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0 Christmas Addition or Subtraction

Solve the following word problems.

Santa has 45 candy canes. He gives 15 candy
canes to the elves. How many candy canes does
Santa have left?

There are 60 lights on a Christmas tree. 20 lights
are not working. How many lights are working on
the tree?

Mrs. Claus baked 80 cookies. Santa ate 35 cookies.
How many cookies are left?

A store has 90 Christmas ornaments. They sell 25
ornaments. How many ornaments are left in the
store?

There are 70 presents under the Christmas tree. 30
presents are for the adults and the rest are for the
children. How many presents are for the children?

A Christmas tree is decorated with 50 red balls and
30 green balls. How many balls are there in total on
the Christmas tree?

A toy factory produced 90 toys. 40 toys are for
girls and the rest are for boys. How many toys are
for boys?

8 A choir has 80 members. 30 members are sick and
cannot perform at the Christmas concert. How

ﬂany choir members can perform?
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